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->Who posed the problem?

—> Can reasons for arriving at the problem
statement be explained?

—> Are the assumptions and reasoning valid?
—> Has sufficient data/information been collected?
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Where does the problem originate?

Who did pose the problem statement in the first
place?

Can that person explain the reasoning as to how
they arrived at that particular statement?

Are the reasoning and assumptions valid?

Has that person considered the situation from a
number of different viewpoints before?

Have you used the first fours steps?
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= Recall or learn the fundamental principles
related to the problem

= Carry out an order-of-magnitude calculation
= Hypothesize what could be wrong
= Guess the result
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- =2 ldentify available information

- Learn Fundamental
(What would cause more dead fish?)

—>Missing information
(A fungus was found in near by areas.)

- Hypothesis
(The fungus Is the cause.)

—>More information (Proof!)
—> Define the real problem (Cure of the fungus!)
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i s Present state/Desire state

- Write a statement of where you are and a
statement of what you want to achieve.
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= Duncker diagram
->Devise a pathway that make it OK to

solve the problem posed to you.

Duncker Diagram
Geriersl ot Aehiuys Dasgsd
State State

Possible Paths to the Desired State

Possible Paths to Make Present State OK

Functional Solutions

S

Solutions to Implement
Paths to the Desired State

Specific Solutions

o-b

LN
Y
V

Solutions to Implement Paths
to Make Present State OK

S

Functional
Solutions:

What to
do.

Specific
Solutions:
How to do it.




m Statement-Restatement

—> Use the six triggers to restate the problem
i In a number of different ways.

Relax Constraint :

Perceived Problem &
N
Make an opposite ©
statement i R
Restatement =
(¢h)
@)

Restatement

Y

Final Problem Statement

Figure 3-2. Stating the Real Problem
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